Year 2/3 Home Learning (Week 1 and 2)

Year 2 - ANSWERS
Week 1 - Week commencing 1st June 2020
Maths - Fractions
Make Equal Parts
	Fluency
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	Problem Solving and Reasoning
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Recognise a Half 
	Fluency
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	Problem Solving and Reasoning
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Find a Half 
	Fluency
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	Problem Solving and Reasoning
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Grammar
Using Past Progressive Tense 
	[image: ]         Fluency 


	    Application and Reasoning
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Using Present Progressive Tense
	         Fluency 
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	    Application and Reasoning
















Spellings Activity
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Punctuation Activity
1. Jannah bought a pen, a pencil and a rubber.
2. Saleh had some paper, a ruler and a book in his tray.
3. The room was dirty, smelly and very dark.
4. The flowers were red, pink, yellow and white.
5. The boys liked rugby, football, tennis and golf.
6. Daud, Ibrahim, Dylan and John went swimming.
7. In the bag were some sweets, a pen and some money.
8. Class 3 saw monkeys, lions, tigers and bats at the zoo.
9. Liverpool, Arsenal, Chelsea and Everton were still in the FA Cup.
10. Tyler got a new bike, a computer, a PlayStation and a football shirt for her birthday. 
Geography
Label the 7 continents and 5 oceans 
Arctic

Europe

North America

Pacific 
Atlantic
Asia
Africa

South America

Indian

Oceania

[image: Outline map of the world]Southern
Antarctica

Geography
Task:
Use the information you have just read and the word bank below to correctly label the divisions of the Earth. 
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Northern Hemisphere
North Pole


Tropic of Cancer


Equator


Tropic of Capricorn

Southern Hemisphere
South Pole










Reading
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Year 2 - ANSWERS
Week 2 - Week commencing 8th June 2020
Maths – Fractions
Recognise a Quarter
	Fluency
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	Problem Solving and Reasoning
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Find a Quarter
	Fluency
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	Problem Solving and Reasoning
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Recognise a Third
	Fluency
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	Problem Solving and Reasoning
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Find a Third
	Fluency
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	Problem Solving and Reasoning
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Grammar – Compound Nouns  
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	    Application and Reasoning











	

















Spellings Activity
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Punctuation Activity 
[image: ]Using exclamation marks in sentences
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Geography
Compass Activity
1. Café 
2. Bus Stop
3. Police Station
4. Pool
5. Mosque
6. Vet to Church
Varies routes – 
Go North 3 squares and West 3 squares
or
Go North West 3 squares
or 
Go West 3 squares and North 3 squares
7. Park to Pool
Varies routes -
Go South East 3 squares
or
Go East 3 squares and South 3 squares
or
Go South 3 squares and East 3 squares
8. Children’s own choice





Reading
1. Where and when was Robert Falcon Scott born?
Robert Falcon Scott was born in is family home just outside Davenport, England on the 6th of June 1868.
2. When Robert was a child what was he uneasy around and could not stand?
When Robert was a child he was uneasy around blood and could not stand the suffering of animals. 
3. How did he follow his family’s tradition?
Robert followed his family’s tradition by joining the Royal Navy in 1880.
4. What did Robert command and lead from 1901 to 1904?
From 1901 until 1904, Robert commanded and led an Antarctic expedition on the HMS Discovery where he demonstrated his skills as a scientific investigator and on his return was promoted to captain. 
5. True or false? Robert Falcon Scott and his crew were the first people to reach the South Pole.
False. Robert Falcon Scott and his crew reached the South Pole on the 17th January 1912, 37 days behind Roald Amundsen, which left them not only exhausted but also disappointed. 
6. On their return to camp what were they met with?
On their return to camp they were met with exceptionally bad weather.
7. Why were Scott, Wilson and Bowers forced to camp and get trapped?
Scott, Wilson and Bowers were forced to camp and then get trapped due to another blizzard that lasted nine days.
8. What happened on 12th November 1912?
On the 12th November 1912, searchers came upon their tent with the men still inside, along with Scott’s records and diaries, with full documentation of their journey.
9. What was organised and held by the King at St Paul’s Cathedral?
A memorial service was organised for the lives lost and was held by the King at St Paul’s Cathedral which was attended by more than 10,000 people. 
10 What was Scott regarded as?
     Scott was regarded as a hero for his courage and patriotism and his widow was given his knighthood that would have gone to Scott should he have survived. 
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Developing
1a. The strawberries and the circle.

2a. True.
3a.2- A; not half - B, C and D.

Expected
4a. The friangle and the pie.

5a. False because the two parts are nof
equal.
6a.1-A BandD;notL-C.

Greater Depth
7a. The blue circles and the

parallelogram.
8a. True.
9a.1 - Aand D; not 2-Band C.
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Developing

1a. True because the two parts are equal.
2a. Cis the odd one out. Drawing of half
circle.

3a. Amy is comect because a half must
have 2 equal parts.

Expected
4a. True because each half has an equal

number of sweets.

5a.B is the odd one out. Accept a
drawing of 8 circles.

6a. Ashley is correct becaus
matter which way the shape is divided as
long as the two parts are equal.

Greater Depth
7a. False because each half does not

have an equal number of forfoises.

8a. Cis the odd one out. Accepta
drawing of 10 friangles.

9a. Layla is correct because the two parts
equal half of the shape.
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Developing
la.5

2a. 3 sweets should be circled.

3a. (19)
©O

4a. Half of 12is 6.

Expected
5a.7

6a. 10 apples should be circled.

8a. Half of 16 is 8.

Greater Depth
9a.8

10a. 9

Ta. @) @

12a. Half of 20 is 10.
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1a. Alfie is comect; half of 10is 5.
2a. Half of 12 s 6; half of 16 is 8.

3a.£10; £20

Expected

4a. Sasha is incorect; half of 24 is 12

5a. Half of 205 10; half of 14is 7.
6a.£9,£18 2= £9.

Greater Depth

7a. Caleb is incomect; 27 - 5 = 22 and half
of 22is 1.

8a. Half of 8 is 4; half of 145 7; half of 6 is
3.

9a.£8;£20-£4=£16 and £16 +

=g8.
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Expected
5a.AandC

éa. False, it is simple past tense as it
doesn’t use ‘was’ or ‘were’ and doesn’t
use a verb with an -ing suffix.

7a. finding

8a. was/were climbing, say, was/were
watching.
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Expected
4a. Various answers, examples include:

We were teaching the dog some new
fricks. | was cooking some dinner.

5a. A. He was baking a cake.

B. They were kicking the ball in the net.

C. She was visiting her grandad.

6a. He is correct because he has used the
conect auxiliary verb and a verb with an
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Expected

4a. Various possible answers, for example:
He is chasing me. You are jogging past
my house. | am calling for my friend.

Sa. Itis thundering loudly. The man is
putting on his coat.

6a.No. The ‘ed ending shows that the
verbis in the past tense.
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Expected

5a. are wanting

6a.True

7a. | am patting the dog.
8a. am calling
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Correct the Spelling Mistake Answers
Each sentence below has one word that is incorrect. Write the correct spelling
of the word in the box.

James was saving his

1. money
pocket munny.

5 “Por Toby has hurt his

- . poor

foot.” said mum.

3. Mowst people like chocolate. most
The teacher towld an amazin

4 g told
story to the class.
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“It is the larsd biscuit.” said mum.

It is important to have an iy test
every year.

The car broke down beacuse
it was owld.

Everyone should drink
lots of wartr.

last

eye

old

water
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Equator, Tropics, Hemispheres and Poles of the World

Word Bank

Equator

Tropic of Cancer

Tropic of Capricorn

Northern Hemisphere

Southern Hemisphere

“| North Pole

South Pole
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Christopher Columbus Answers

Where was Christopher Columbus born?
He was born in Genoa, Italy.

How long was his biggest ship?
His biggest ship was less than 23m long.

How did he find his way at sea?
He learnt to find his way at sea by using the stars, the sun and a compass.

How did Christopher Columbus get the money to go on his trip?
The king and queen of Spain gave him the money he needed to buy ships.

How many voyages to America did he complete and across which ocean?
Christopher Columbus completed four voyages across the Atlantic Ocean.
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10.

Did he have a family?
Yes, he had a wife and two children.

What were his ships called?
The three ships were called Santa Maria, Nifia and Pinta.

Which countries did he find on his voyages?
He found the Bahamas, Cuba and Central America.

Did Christopher Columbus discover America?

Christopher Columbus did not discover America, as the Vikings from Europe had already landed in America
500 years before, but he did not know this.

How do you think he felt when he discovered “The New World"?

(Answers will vary) E.g. | think Christopher Columbus would have felt really excited, overjoyed and amazed
when he found ‘The New World'.
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Developing
la.Aand B

2a. A shows a quarter; B and C do not.
3a. True

Expected
4a.AandD

5a. B shows a quarter; A, C and D do not.
éa. False; each group does not contain
the same amount.

Greater Depth
7a.A, Cand D

8a. A, B and C show a quarter; D does nof.
9a. True
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Developing
has four equal parts and one is

2.1 different section coloured on each
example.
3a. A; it shows @ half, not @ quarter.

Expected
4a.B; it has four equal parts and one is
shaded.

5a. 1 different section coloured on each
example.

6a. A; it does not represent one quarter.
There are 5 equal parts instead of four

Greater Depth
7a.C; there are not 4 equal parts fo the
shape.

8a. 1 different section coloured on each
example.

9a. B; the fraction o show one quarter has
been written the wrong way round.
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Developing
Ta. Half of 45 2. A quarter of 4is 1. One is
halt of two.

2a.2pears.

3a. Any 1 part of the shape shaded. The.
shape has 4 equal parts. “' of the shape

is 1.
1 ofgi a1
4a. -of 8is2and - of 4is 1.

Expected
S5a. Half of 12 s 6. A quarter of 12is 3.

Three is half of six.

4a. 4 friangles.
7a. Any 3 pars of the shape shaded. The
shape has 12 equal parts. “' of the
shape is 3.

8a. - of l6is i of8is2 - of 12is
3.
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Greater Depth
9a. Half of 24 is 12. A quarter of 24 is 6. Six

half of twelve.
10a. 3 squares.
11a. Any 5 parts of the shape shaded. The

shape has 20 equal parks. —4- of the
shape is 5.

1 20w L ofaaise L
126, ot 20is5; 1 of24is6; Lot 16
4
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Developing
1a. The odd one out is the 3 strawberries.

2a.Tarais comect because 8 splitinfo 4
equal parts is 2.

3a. Ais incorrect because the shape has
not been splitinto 4 equal parts.

Expected
4a. The odd one out is the 6 circles

Sa. Kieron is comrect because £16 splitinfo
4 equal parts is £4.

6a. C s incorrect because the shape has
been spiitinto 5 equal parts.

Greater Depth
. The odd one out is the 7 squares.
comect because £10 + £14 = £24,
o 4 equal parts is £6.

incorect because she has shaded
100 many parts. She should have shaded
three of the twelve parts. C is also
incorrect as there are 13 equal parts.
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Developing
la.Aand B
2a.Aand C

3a. A, B and C show one third
4da.

1
3

Expected

5a.AandB

ba.Aand C

7a. C and D show one third

1
sa.— =B

Greater Depth
9a.Aand C

10a. A and C

11a. A and C show one third

LI
120.=A
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Greater Depth
7a. Two different parts shaded in each

shape.

8a. Bis the odd one out because two of
the four parts are shaded (%). The others
have two of the six partz shaded or one of

three equal parts circled (——),

9a. False because there are three parts
but they don't have an equal number of
butterflies and ladybirds in each part.
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Developing
1a. A different part shaded in each shape.

2a. Cis the odd one out because fwo of
the three parts are circled (-2). The
others have one of the fhree pars circled
o shaded (%)

3a.True becduze there are three parts

and each one has an equal number of
ladybirds.

Expected
4a. A different part shaded in each shape.

5a.Als the odd one out because one of
the six parts are circled (%). The others
have one of the three parts shaded or one

of three equal parts circled ().

6a. False because there are fhree parts
but they don't have an equal number of
butterflies in each part.
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, B.12, C.2

sERa
P
b
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g
o

a6

. B.6, C.4

FagE
apol

Greater Depth
9a.6

10a. True
1a.A.4, B.21, C.5
12a.8
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Developing
a1

2a. 1 of12=4 and L of3=1
Sc.No,TeHZnA

Expected
4a.3

Sa.1-of15=5 and L-of 18=6
4a.No,+-of21is7

Greater Depth
7a.6,8

8a.-of24=8 and —-of21=7 and
1 B

Tof1giss

9a.No, - of 27z 9
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Expected
4a. Various possible answers, for example:
sunflower; sunlight; tealight; teapot. The
sunflower grew fo over two metres fall.
5a. | am fravelling fo the air port at the
week end. | am travelling to the airport at
the weekend.

6a. Ashley is correct because the words
are all compound nouns.
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Expected
Sa. sunflower; greenhouse;
baseball

éa. fire and work; pass and port; lady and
bird

7a. bookmark and bookshelf

8a. Various possible answers, for example:
sand + castle = sandeastle; air + port =
airport; hand + shake = handshake
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Correct the Spelling Mistake Answers

The spelling mistakes in these sentences have been circled. Write the correct
spelling for each circled word in the box.

1. We are going swimming again
5 “Where are your parents

asked Jemima.

3. Can you helpmg glasses? find
4. Theyenjoged the film. both
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ITam suvingpenng of my

pocket money.

The bus leaves in un

you!”

“I am right
shouted Mega

The teacher is ulwags

every

hour

behind

busy
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Put the exclamation mark into these sentences in the correct place.

The concert was amazing!
Wow! That star is really bright
What a lovely smile you have!

"Sit down and be quiet!” the man shouted.

Full stop or exclamation mark?

1. Isaw Daniel Radcliffe in a film last night. What a brilliant actor he is!

2. “Help!" shouted the boy.

3. The wolf looked at Little Red Riding Hood. "What big ears you have!” she said nervously.
4. Bang! The fireworks exploded in the air.

5. The woman gave some money to charity. How generous she is!
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Which piece of punctuation?

Draw a line to the correct piece of punctuation.
What time is the next train to London
The old car rattled along the road

What a great footballer you are

Crash
How old are you

Sitting quietly, the boy read his book-
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Developing
1a. False. The shapes are divided into

equal parts.

2a.2

3a. A) Unequal B) Equal C) Unequal
4a. 7 balls in each equal part

Expected
5a.True

6a.4
7a. A) Equal B) Unequal C) Equal
8a. 5 cupcakes in each equal part

Greater Depth
9a. False. The shapes are divided into

unequal parts.

10a.4

11a. A) Equal B) Unequal C) Unequal
12a. 5 eggs in each equal part
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equal part.
2. Various answers, for example:

=N I

3a.True. There are § cupeakes i
equal part.

Expected
4a. Daisy
equal part.

Sa. Various answers, for example:

Ny

6a. False. Two of the parts are equal, one
of the parts is not.

correct. There are 6 in each

Greater Depth
7a. Omar is comect; 30 5=

8a. Various answers, for example:

= M

9a. False. Five of the parts are equal, one
of the parts is not.





